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Fun G886 quarnatwise, Arcl Asym: Bearm ON, Laser OFF
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Flun G896 quanetwise. ISba2 Acym: Baam ON, Lasear OFF
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Flun GOOB cuanebwise, DSbg2 Asym: Baam ON, Lasar OFF

Flun GOGE quanetwise, Side Fingar Aaym: Beam ON, Laser OFF
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Flun 5896 quanetwise, LISba1 Asym: Baam ON, Lasar DFF

R T I LT

— Enfiiss =2 L]
— Faan UUZEJ

— | Sid Carg [0 Soa;

3 N . Hnnﬂ.HJLHﬂHJLL _.-lJ-|.|-|.|_L|-|J-|_|-I._.|-||-|n . N .
1 s 1 s 1
U&=gl Baym
FAun G808 quanstwiss. DSk Atym: Baarn ON, Lassr OFF
Flur G866 quantabwise T, Asyrin: Baarn OBl Lakar OFF
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Acc0 Asym (ppt): 882.32 +/- 723.58
USbg1 Asym (ppt): -4.49 +/- 5.57
USbg2 Asym (ppt): 0.51 +/- 3.78
DSbg1 Asym (ppt): -0.39 +/- 0.97
DSbg2 Asym (ppt): -0.36 +/- 0.89

Top Finger Asym (ppt): 0.83 +/- 4.19

Side Finger Asym (ppt): 1.74 +/- 3.03
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Run 5396, quartetwize: LSbg1 vs time
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Run 5996, quartetwise: DSbg1 vs time
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Run 5998, guartetwize: vertFing vs time
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Run 5398, quartetwise: USbg2 vs tima
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Run 5996, quartetwise: DSbg2 vs time
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Run 5326, quartetwise: horizFing vs fima
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